EEx g (21 - —R)
3 2
(1) 4 6 (M1 e= 3 6 (A1) 58 B 6 O k= 2419 6
2 8 (1)
(M2) 11 6 (M2l r=-—gx+3 6 (m2) [ W) 9 [ ERgP o, 9
HERY ]
= H Q Q ¢
sy x=5, y=7 6 (f3)| [ #PoxCaELY | 9 &
A C Y OB OWET, MF/RIRH !
(4] =3, 2 6 HPo ey ¢ (0<t<4) Lk, Kbt Hiish, CO=CB=CQ &40, :
ACOQECO=CQO SN =METhs, :'
(F5] 12 6 /COQ+ £CQ0=2/2C0Q @
(R 6 " 7 ZBCP & £ QCP i #iBegon o ! . _ )
) . B Ly, R OOBMEO—HT, oMM
B PQOESE, — 4 8—?!21'&:6., /BCQ=2/BCP seil(d) CUIETHS,
. IHA, P, QA=ONICR UMEEHY,
= = 1N - S __1_ - el NSNS = TS 5.
PQ=PRLY, —t+8— gti=t TN —— ;.i::mocu»mmc. 0C & oisss
£C0Q+ £€Q0=£BCQ - @ D
@ EI A O A BILIE=#A#R0OT,
©. @, QLY LLCOQ= 2LBEP OH=3, OH:AH=1:J3 kb,
A —. b, ZC0Q=LBCP AH=3/3
ey e EoT, AOAQ= 3 X4X3YT =6/F cm?
FiEeh 00 PR Utitn T, FBAHELoT,
~Jo t= — 4+ 43
N 0Q/ABLY, QP:PA=0Q:AB=2:3
N 0Q/CP B
& 0<t< 4 kY,
B SPOxERL —4+ 43 @ Lo, AOPQ:%AOAQ
\k 2 123
/f = E— b4 6‘\/_3_ — g cm? @
T s E
HOEA) *é ;
S . em’
x) —d 443 i
e ; w3 (V14 —42) (5 2) 12+ 2 em® 6
37 21 21 21
2 # Eig BEma




